(96.5)

30

30 (96.5)

10 ARG 30 AR $30 2|
- - Y]
I | A e ———————————e s A B 8
176.5 | L450J{450\L 8147 J{450\L450J L176 53
10300 350 1000 50 50 1000
126.5 1000 8047 1000 126.5 300 | 450
176.5 | | 450 450 8147 450 450 | | 176.5 250
Ry )—vikw R rﬂi::‘;j::ﬁ
a (32 T %) E— 4 —481. 2550 % 50 (R &) H T
&~ 7 L
= . S ———
- ﬂ@'ﬁ% — — — — — — | — gI & U ZL
= 3k ‘
X . \ 1060 S Er 1060 \ |
Z f by 1 W /s
w| H [ 125 UV
X B R B Uy hrRAYF
o —~
N =
© X
R
3 g ISR S=1/20
| i
o [e)
5| & 3
S A AHY—y
B I
| e i E MER  \
B m ‘
-~ B
7947 _RYRY B4t AL RM12
100 7747 100 GIETE) J_n.
) o
8 ™
= R OEAR Y 4 2
=l B I ~ = B E A 5 30mmEl £
[s1r] =, -
=B \62.07030447 = EWTAYTEFRB T Y b e 2| o
$=1/60 Z A v FIZ THEREE (0~400 S o
2 SRR S-1/ A - F = THEHE (0~400) S
1@7»ﬁ7—ﬁwﬁaz4
= L] | -
=R AC100V N H— (RIER)
— E | 310
% MR S=1/10
I
\ B |
AL YF co
5
I R )— EHE—E HWADEHRRUVTHA VEREZD-OFELLLERTT REENHY ET,
v EPRER) [7740KRTA BEUSA JME - TILIASHHEM A6063S-T5
E—4— | X | o |ME:XF—I FFEEE [121/146mm/sec
2 ST lge s SL— (BT UELERIE) (1IN —BOABAL v F (S LF—HTA F)
= e s [EE¥T—FE—5= TL—*f FRE 2541 255950
=1 . = SR .
T—n—8@ o1 : 2000 EHEBH : 5. 1/4.54 RIS DOV, T4 YLRYED L. Hoim
1. 2550 % 5C (1B &) E & |ACI00V./20A 50/60Hz
Sk il # @ [ACI00V(% U —H A HEAHEE) AaTs EREREETIE(IR 2RAR), XA vFRYIR
ACTOOVH i F &5 #R R B = (236 3ke & 25—y s R
4 KIC I 3504 L FREEHE LR Y 1) —> HDI6:94 1 X)
A . LM\ RE B TA T4 2= e MR A3 B E KEL-HD350 No. KEL-HD350
B ZE B N B HY Ver. 8.0 1/60 1/20 1/10 mm

*+00000000




